RED och-
R >
<

HI-LIFT JACK HOOD MOUNT

KIT

(2018-2021 WRANGLER JL)
(2020-2021 GLADIATOR JT)

INSTALLATION INSTRUCTIONS

CONTENTS

1) LH Hood Mount

1) RH Hood Mount
4) Conical Spacers
1) Strap
2) Jack Hold Down Brackets
2) Wing Nuts
2) Adhesive Pads
4) M8x1.25 x 35mm Allen Bolts
4) M8 Lock Washers
4) M8 Flat Washers

) M10x1.50 x 40mm Studs

) M10 Lock Washers

) M10 Flat Washers

)

(1
(1
(
(
(
(
(
(
(
(
(
(
(
(2) M10 Nuts

2
2
2
2

TOOLS REQUIRED

4mm Allen Key/Socket
T-50 Torx Socket
Ratchet

17mm Wrench

SKU # J156253



"
REDROCK=
X

STEP1

Remove (2) T-50 Torx bolts from the hood hinge.

STEP 2

Adhere (1) adhesive pad to the bottom of the hood mount.



"
REDROCK=
X

STEP 3

Place (2) conical spacers in the original bolt holes in the hood hinge. Place the hood mount onto
the spacers, then secure the hood mount to the vehicle using (2) M8 x 35mm Allen bolts, (2) M8
lock washers, and (2) M8 flat washers. Tighten until secure.

STEP 4

Insert (1) M10 x 40mm stud through the bottom of the hood mount. Secure the stud in place using
(1) M10 flat washer, (1) M8 lock washer, and (1) M10 nut. Tighten until secure.



"
REDROCK=
X

STEP S

Repeat steps 1-4 to the opposite side of the vehicle.

STEP 6

Place the jack onto the hood mounts. Once placed, install (1) hold down bracket over the jack on
each side of the vehicle. Secure the jack using (1) wing nut per hood mount. Use the supplied strap
to secure the jack closed.

Installation is now complete.



	J156253 - RedRock 4x4 - HiLift Jack Hood Mount Kit (18-21 JL JT)-01
	J156253 - RedRock 4x4 - HiLift Jack Hood Mount Kit (18-21 JL JT)-02
	J156253 - RedRock 4x4 - HiLift Jack Hood Mount Kit (18-21 JL JT)-03
	J156253 - RedRock 4x4 - HiLift Jack Hood Mount Kit (18-21 JL JT)-04

